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U 1. 0b0bo0o00gbobobgao
a=14+4p=2-3x 0000000000000

1. Q. a+p
A.
a+0 = (1+14)+(2-30)
= (14+2)+ (i —3i)
= (1+2)+(1-3)i
= 3+ (—2)i
= 3—2
2. Q. a—p
A.
a—p = (1+1i)—(2-30)
= (1-2)+ (i+ 39)
= (1-2)+(1+3)
= (—2) + (4)i
= —2+4
3. Q. axp
A.
axf = (14+14) x (2 —3i)
= 1 x(2—3i)+1ix(2—310)
= (I x2)—(1x3i)+ (ix2)—(ix3i)
= 2 — 3i + 2i — 312
= 2—3i+2i—3(-1)
= 2—3i+2i+3
= (2+3) + (—3i + 24)
= (243)+ (=34 2)i
= 5+ (—1)i
= 5—1i
4. Q. 3



a (1+414)
1G] (2 — 3i)
(14+4)(2 — 34)
(2 — 30)(2 — 31)
(1+14)(2+ 34)

(2—3i)(2 + 3@%

- 2431+ 21 —
o 22 —3)2
_ ” (—1 )+)5z
B 1 Y5
- _E + 1—3’l
5. Q. Re(p)
A.
Re(8) = Re(2— 3i)
6. Q. Im(p)
A.
Im(ﬁ) = $2-— 3¢
= -3
7.Q. 6
A.
B = 2-3i
= 24+ 3%
8. Q. ||
A.
B = VP
= VIT9
V13
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La=—-1+2i, B=5+5i
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La=—4—4, B=-2-—4i
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.ao=-3+i, [B=5-5i
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cA—1. 6—4i, 4—2. —4i, 4—3. 9—12, 4—4. =12 45 3 4-—
6. 0, 4—7. 3, 4—8. 9

ca=-4-2i, f=-5+3i
.5—-1. —=9+4i, 5-2 1-5, 5-3. 26—2i, 5—4. 2 55 —
5, 5—6. 3, 5—7. —5-3i, 5—8. /34

.a=4+1i, =2—1

.6-1. 6, 6—2. 242, 6-3. 9-2, 6-—4. &% -5 2 6-6. —
1, 6-7. 2+i, 6—8. 5

a=5—4i, B=2+4i
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